Opérations Mixtes (A)

8799
+ 8895

6813
- 3210

1457
x 73

561)3
187

54+ 6=
7% 5=

& x 8=

3503
+ 4933

2337
- 701

2783
x 82

3450)6
575

5x 8=
40+ 5=
6x7=
6% 8=
56 7=

S5x5=

3373
+ 3196

8817
- 7700

6706
x 51

3870)6
645

&x 6=
7Tx9=

30+ 5=

72+ 8 =

S5x9=

5634
+ 2044

9010
- 6820

6489
x 86

3395)5
679

9x 9=
7x7=
63+ 7=
8§ x 9=
9x5=

42+ 6=
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Opérations Mixtes (A) Solutions

8799
+ 8895
17694

6813
- 3210
3603

1457
x 73
106361

561)3

187

56 + 8 =7

5x7=35

6x9=>54

54+6-=9

7x5=35

8 x 8= 64

3503
+ 4933
8436

2337
- 701
1636

2783
x 82
HiH

3450)6

575

5x8=40

40+58

6 x7=42

6 x 8 =48

5678

5x5=25

3373
+ 3196
6569

8817
- 7700
1117

6706
x 51
342006

3870)6

645

8 x 6=48

7%x9=63

30 +5=6

6 x6=36

72 +8=9

5x9=45

5634
+ 2044
7678

9010
- 6820
2190

6489
x 86
558054

3395)5

679

9x9=281

7xT=49

63 +7=9

8x9="72

9x5=45

42+6-7
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Opérations Mixtes (B)

7149
+ 7262

6211
-2183

7413
x 33

2694 )3
898

6 x5=
64+ 8§ =
7x 0=
30+ 6=
7% 6=

9x8=

3944
+3956

3638
- 3485

4550
x 97

3462 )6
577

54+9 =
36+ 6=
5x7=
25+5=
45+9 =

54+ 6=

6444
+ 2354

1220
- 834

9371
x 84

3812)4
953

72+9=
49 +7 =
42+7=
7x 8=
Q0 xQ=

Tx5=

6223
+ 5084

4679
- 3259

3160
x 36

5056 )8
632

48+ 6=
Q x 7=
5x 8=
45+ 5=
48+ 8=

40+ 5=
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Opérations Mixtes (B) Solutions

7149
+ 7262
14411

6211
-2183
4028

7413
x 33
244629

2694 )3
898

6x5=30
64 + 8 =8
7x9=63
30+6=5
7Tx6=42

9x8=72

3944

+ 3956

7900

3638
- 3485
153

4550
x 97
HiH

3462 )6

577

5496

3666

5x7=35

25+55

45+95

5469

6444
+ 2354
8798

1220
- 834
386

9371
x 84
787164

3812)4
953

72 +9 =8
49 +7=7
42 +7 =6
7 x 8 =56
9x9 =8l

7x5=35

6223
+ 5084
11307

4679
- 3259
1420

3160
x 36
113760

5056 )8
632

48+ 6 -8
8 x 7= 56
5% 8=40
45+5=9
48 =+ 8 =6

40 +5-=8
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Opérations Mixtes (C)

8483
+ 4846

3267
- 140

1669
x 70

1812)3
604

7%x9=
30+ 6=
42+7=

8 x 6=

6259
+ 5985

7924
- 1102

3857
x 47

1119)3
373

7x 5=
48 + 8 =
8 x 5=
9x5=
35+7=

36+ 6=

6373
+ 2977

7607
- 1055

3666
x 61

1872)3
624

54+9=

56+ 8=

9615
+ 8925

6747
- 2880

4942
x 18

588 )4
147

9x9=
6x5=
7x 6=
25+5=
49 +7 =

64 + 8 =
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Opérations Mixtes (C) Solutions

8483
+ 4846
13329

3267
- 140
3127

1669
x 70
116830

1812)3

604

72+9-8

5x8=40

7x9=63

30+ 6=5

42+7<6

8 x 6=48

6259
+ 5985
12244

7924
- 1102
6822

3857
x 47
Hth

1119)3
373

7x5=35
48 +86
8 x5=40
9 x5=45
35+=75

36 -66

6373
+ 2977
9350

7607
- 1055
6552

3666
x 61
223626

1872)3

624

O9x8=72

5x9=45

8 x7=156

9x6=>54

54+9=6

56 +8=7

9615
+ 8925
18540

6747
- 2880
3867

4942
x 18
88956

588 )4

147

9x9=281

6 x5=30

Tx6=42

25+5+=5

49 +7=7

64 + 8 =8

MathsLibres.com




Opérations Mixtes (D)

5384
+ 8145

2082
- 269

5100
x 97

496 )4
124

56+ 7=
30+ 5=
45+ 5=

9x7=

72+9=

5280
+ 1572

5860
- 5166

6128
x 81

2310)3

770

TXxX5=

9x8=

30+ 6=

5x8=

x5 =

6x8=

6197
+ 9804

3051
- 743

1378
x 27

6876 )9

764

48+ 6 =

& x 8=

4490
+ 2360

4361
- 1690

2331
x 48

8415)9

935

49 +7 =

6x6=

7Tx8=

25+ 5=

9x9=

35+7=
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Opérations Mixtes (D) Solutions

5384
+ 8145
13529

2082
- 269
1813

5100
x 97
494700

496 )4
124

56 +7=8
30+ 56
45 +5=9
9x7=63
5% 9 =45

72+9-8

5280

+ 1572

6852

5860
- 5166
694

6128
x 81
HiH

2310)3

770

7x5=35

9 x8=72

3065

5x8=40

8 x5=40

6 x 8 =48

6197
+ 9804
16001

3051
- 743
2308

1378
x 27
37206

6876 )9
764

6x7=42
54+9=6
7% 6=42
9x6=54
48 + 6 -8

8 x 8= 64

4490
+ 2360
6850

4361
- 1690
2671

2331
x 48
111888

8415)9
935

49 +7=17
6x6=36
7x8=156
25+5=5
9x9=281

35+7+5
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Opérations Mixtes (E)

4803
+ 9585

4304
- 3565

7092
x 94

6090)7
870

35+7=
7x9=
5%x9=
8 x 5=
63 +7=

9x8=

8085
+ 9776

8870
- 3047

3409
x 55

2868 )6
478

9 xQ=
56 +8=
8§ x 8=
54 +9=
40 + 8 =

O9x5=

6986
+ 9251

1961
- 240

6074
x 59

2673)9
297

36+ 6=
] x 0=
54+ 6=
48 + 6=
{ x 7=

49 +7 =

8486
+ 1048

2902
- 843

8498
x 77

3620)5
724

7 x 6=
7x 5=
6 x5 =
30-6=
25+5=

6x7=
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Opérations Mixtes (E) Solutions

4803
+ 9585
14388

4304
- 3565
739

7092
x 94
666648

6090)7
870

35+7=5
7x9=63
5x9=45
8 x5=140
63+7-=9

9x8=72

8085

+ 9776

17861

8870
- 3047
5823

3409
x 55
HiH

2868)6

478

9 x 9=81

56 +87

8 x 8 =64

5496

40 +~ 85

9 x5=45

6986
+ 9251
16237

1961
- 240
1721

6074
x 59
358366

2673)9
297

36 + 66
g x9=72
54 +6=9
48 = 6 8
8 x 7= 56

49 +7 =7

8486
+ 1048
9534

2902
- 843
2059

8498
x 77
654346

3620)5
724

Tx6=42
7x5=35
6x5=30
30+6=5
25+35=5

6x7=42
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Opérations Mixtes (F)

5492
+ 9020

6237
- 149

3798
x 67

5634 )6
939

6% 8=
45+9=
7% 6=

35+ 5=

25+ 5=

4622
+ 7899

3636
- 348

3972
x 85

4235)7
605

30-6=
72 +8=
5x8=
54+6=
81 +9=

6x7=

6523
+ 3298

9269
- 5205

1369
x 96

1749 )3
583

49 + 7 =

64 = 8 =
56+ 8 =

36+ 6=

2542
+ 2863

1865
- 405

6929
x 92

976)4
244

45+ 5=
8§ x 9=
8§ x 5=
8 x 6=
6x5=

35+7=
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Opérations Mixtes (F) Solutions

5492 4622 6523 2542
+ 9020 + 7899 + 3298 + 2863
14512 12521 9821 5405
6237 3636 9269 1865
- 149 - 348 - 5205 - 405
6088 3288 4064 1460
3798 3972 1369 6929
x 67 x 85 x 96 x 92
254466 HiH 131424 637468
5634 )6 4235)7 1749)3 976 )4
939 605 583 244
6 x 8 =48 3065 49 +7=17 45+5-9
45+9-=5 72 =89 7%x9=63 &8x9="172
7Tx6=42 5x8=40 8 x7=156 8 x5=140
35+5=7 54+69 64 + 8 =8 8 x 6=48
6x9=>54 81+99 56 +8=7 6 x5=30
25+5-5 6 x7=42 36 -6=6 35+7=5
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Opérations Mixtes (G)

4027
+ 9142

2496
- 734

3149
x 75

1590)6
265

56+ 8=
35+7=
64+ 8=
30+ 6=
56+ 7=

6x9=

2467
+ 6149

9163
- 7178

3775
x 44

2079)7
297

9 x6=
48+ 6=
5x0=
6x7=
35+5=

6x6=

8783
+ 2125

5110
-4917

9391
x 18

6272)8
784

8 x 5=
81+ 9=
40 + 8 =
72+ 8 =
30+ 5=

25+ 5=

7971
+ 8497

4301
- 383

1900
x 63

364 )2
182

49 +17 =
9x5=
7x 6=
7x9=
48 +8 =

63+7=
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Opérations Mixtes (G) Solutions

4027
+ 9142
13169

2496
- 734
1762

3149
x 75
236175

1590)6

265

56 + 8 =7

35+7=5

64+ 8 =8

30+ 6=5

56+ 7-8

6x9=154

2467

+ 6149

8616

9163
- 7178
1985

3775
x 44
Hithh

2079)7

297

9 x6=54

48 +68

5x9=45

6 x7=42

3557

6 x 6=36

8783
+ 2125
10908

5110
-4917
193

9391
x 18
169038

6272)8
784

8 x5=40
81+9=9
40 + 8 =5
72 +8+=9
30+5=6

25+5=5

7971
+ 8497
16468

4301
- 383
3918

1900
x 63
119700

364 )2
182

49+7=7
9 x 5=45
7% 6=42
7%9=63
48 + 8 =6

63 +7=9
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Opérations Mixtes (H)

3335
+ 4903

7640
- 3364

7330
X 69

1737)3
579

6% 6=
49 =7 =
7Tx 5=
8 x5=
25+5=

6x8=

3752
+ 4802

4818
- 3933

6313
x 54

2051)7
293

7 x 8=
30+6=
9x7=
45+9 =
63 +9 =

81+9=

4491
+ 6861

1697
- 924

3018
x 53

3400 )8
425

45+ 5=
6x9=

72+8=

30+ 5=

S5x8=

8498
+ 8920

5236
- 4235

1463
x 36

1732 )4
433

64+ 8 =
Q x 7=
8 x Q=
7Tx 6=
35+7=

42+ 7=
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Opérations Mixtes (H) Solutions

3335
+ 4903
8238

7640
- 3364
4276

7330
X 69
505770

1737)3
579

6 x6=36
49 +7=17
7x5=35
8 x5=140
25+5-5

6 x 8 =48

3752

+ 4802

8554

4818
- 3933
885

6313
x 54
Hth

2051)7

293

7% 8=56

30+65

9 x7=63

45+95

63+97

81+99

4491
+ 6861
11352

1697
- 924
773

3018
x 53
159954

3400 )8
425

45+5=9
6x9=>54
72 +8=9
9 x 6= 54
30 +5=6

5x8=40

8498
+ 8920
17418

5236
- 4235
1001

1463
x 36
52668

1732 )4
433

64+ 8 =8
8 x7=56
&x9="172
Tx6=42
35+7=5

42+7=6
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Opérations Mixtes (1)

7339
+ 8672

1807
- 821

3444
x 25

2008 )4
502

40 + 8 =
42 +7=
40+ 5 =
g x 8 =
54+9=

63 7=

3920
+9311

2755
- 957

9731
x 48

7470)9
830

35+ 7=
45+9 =
30+ 6=
6 x5 =
25+5=

Tx6=

6010
+ 2089

7197
- 2182

7393
X 66

3535)7
505

56+ 8 =

36+ 6=

1319
+ 2670

3132
- 2181

6601
x 99

7960)8
995

63+9=
54+ 6=
49 +7 =
48 + 6=
0 x 8=

56+ 7=
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Opérations Mixtes (I) Solutions

7339
+ 8672
16011

1807
- 821
986

3444
x 25
86100

2008 )4
502

40 + 8 =5
42+7=6
40 +5-8
8 x 8 = 64
54+9=6

63+ 79

3920

+ 9311

13231

2755
- 957
1798

9731
x 48
Hithh

7470)9

830

35+=75

45+95

3065

6 x5=30

25+55

7% 6=42

6010
+ 2089
8099

7197
- 2182
5015

7393
X 66
487938

3535)7
505

9 x5=45
6 x 8 = 48
56+ 8=7
36+ 66
7x5=35

9x9=281

1319
+ 2670
3989

3132
- 2181
951

6601
x 99
653499

7960)8
995

63+9=7
54 +6=9
49 = 7=7
48 + 6 -8
9x8=72

56 +7-8
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Opérations Mixtes (J)

1675
+ 4094

1956
- 1041

4229
x 40

4720)8
590

7x5=
56+ 8=
7x9=

TxT=

36+ 6=

4938
+ 8371

1003
- 367

4447
x 97

2292 )3
764

72+ 8=
81 +9=
7 x 6=
30+6=
45+ 5=

42 +7 =

2552
+ 2976

5404
- 1651

9146
x 72

3640 )5
728

63 +7=
6 x 8 =
5% 7=
6 x 9=
8§ x 5=

25+ 5=

9510
+ 6338

8813
- 8287

8934
x 58

3997)7
571

45 +9=
8 x 8=
9x 6=
8§ x 7=
6x5=

72+9=
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Opérations Mixtes (J) Solutions

1675
+ 4094
5769

1956
- 1041
915

4229
x 40
169160

4720)8
590

7x5=35
56 +8=7
7x9=63
7x7=49
8 x 6=48

36+ 66

4938

+ 8371

13309

1003
- 367
636

4447
x 97
H

2292)3

764

72 =89

81+99

7% 6=42

3065

45+359

42 +76

2552
+ 2976
5528

5404
- 1651
3753

9146
x 72
658512

3640 )5
728

63+7=9

6 x 8 =48
5x7=35
6x9=>54
8 x5=140

25+5=5

9510
+ 6338
15848

8813
- 8287
526

8934
x 58
518172

3997)7
571

45+9 =5
8 x 8= 64
9x 6=54
8 x 7=56
6 x5=30

72 +9=8
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